Pre-Algebra
Summer Packet

Please return this packet to Mrs. Dunphy
before the first day of school.

Student Name__ fnswes— Koo

The purpose of this packet is to provide practice problems for the skills you should know
well to succeed in the Accelerated track of Pre-Algebra in 6t grade.

If you come across an unfamiliar topic I recommend searching the topic name on Khan
Academy. You can find the topic names at the top of each worksheet.

Please show all work in this packet and circle or box all answers. You may attach any extra
scratch work to the back of this packet. All problems should be done without a calculator.

After 5/24/19 you will be able to check your answers on my blog at
https://adunphvmath.weebly.com/summer-packethtml

Feel free to email me with questions at adunphv@scottsdaleprep.org

Note: | frequently check my email in June but rarely check my email in July






Order of Operations
Evaluate each expression.

1) 36+7)

2
3) 72+9+7

[5
5)9+8-7
[0
7) 5(10 - 1)

15

9) 20+ (4—-(10-38))

|©

11) 94+49+6-5

1

13) 7+10X5+10

ot

2) 5x3x2
ZWN
4) 2+7x5
37
6) 9— 32+ 4
|

8) 48 + (4 +4)

10) 40 +4 —(5-3)

¥

12 {54 16) =7 =32

M5 {6+ 25 ~7) 26



15) (6-4)x49+7 16) (7Tx5)<5

1y 7

17)

43 -1 5
s e 1 18) (8+5) x> 46
442 5

E: 17

19) 2T 43 20) e
2+3+4 R(5—4)~3
15 10
21) 8x——(5+9 22) 2x7 - ——
) 8x (5+09) ) 2xT - o—
2 Aoz —
23) (10+2-2)x6-1 24y B 60
7 2m5
25) 0 +6x2+2-4)x2 26) (3+6)x3

24 o



Name

Adding and Subtracting Decimals

Find each sum.

I) 10.392 +27.794 + 36.2 2) 23.1 +44.06+19.8

74,380 §b.96

3) 12433.7+4.22 4) 26.2 +28.05+22.6

Y4992 7665

5) 43.6+ 11.44 + 36.8 6) 1.9 +49.58 +26.1

9184 77.5%

Find each difference.

7) 33.6-11.15 8) 29.75 —29.5

9) 25.1-24.159 10) 28.06 —4.7

0.94! /3.3L

11) 29.13-0.3 12) 16 —4.39

2983 16



13} Sydney was given 4 one thousand dollar bills, 2 one hundred dollar bills, 9 one dollar bills and 8
dimes, 3 pennies. Jacob was given 3 one thousand dollar bills, 9 one hundred dollar bills, 8 ten
dollar bills, 7 one dollar bills, and 7 dimes, 6 pennies.

Who had more money?
SSM% $u, 209 .83

How much more?

$ 22207

14) Sammy ran the race .059 seconds faster than Olivia. Olivia finished the race in 14.289 seconds.
Johnathan finished .087 slower than Olivia. Isaac finished .345 faster than Sammy.

hint 1 Fasker 5 subhackhon  Slower — addidin

What did place did all competitors finish and their times

1st- -I;SMC— (3 ggg

2nd- S&W‘/’W‘j M-Ts
3rd- 6\,‘»\/%0-- !"‘. qu

s Jootto~ M-3FL

15) Hamburger §2.45 add Cheese $.42
5 Chicken Nuggets $1.13 add Sauce $.20

At lunch Emily ordered 10 chicken nuggets, one ranch, and one bbq sauce. Stephen ordered a
cheeseburger.

Who paid more for lunch? g“{‘? L‘-@(/x P 61—1\0Q
T L% -4 26 b ~/b&f -/Q,U\-U\,OJQ/\ .
6-‘&{) len $ 257

AV




Multiplying Decimals
Find each product.
1) -5.5x-4.87

2. 755

3) 02x-1.6

-0.31

5) —4.6x~7.2

CENDE

7) —1.5x 7.1

10.6S

0) -7.5x9x-8.3

560.2¢

I1} 3.2%x87x-1.1

—30.,2 Y

2) 1.7x-2.1

-

4) 1.7 x-3.1

~S.2.7

6) —5.928 x -11.6

68 7L48

8) 7.8x 5.1

5% 7%

10) —4.04 x -9 % 3

09,08

12) 8.1 % 8.6 x~5.2

—~ 3b2.2.8%



Dividing Signed Decimal Numbers
Find each quotient.
1) -6.8+-7.4
0.913
3) 3.6 +-9.8
-0.3L7
5) 1.1+8.8
0025
7) 28+125
224
9) 2.6 +-3.3
~0.7¢

EL) =~
) ~1.8

—

3.1

9.1
15) ——
-10

-0.91

-0.4
—2.443

0. 1L

8.2
17) —
—4.1

0.3
19) ——
2.99

3. 110

2} -84 +-9.6
0875
4) —-0.84+-2.8
03
6) 9.5 +-6.1
-1,S57
8) 1.6+-09
~1,7
10) 8.8 +—4.1

~ 2. 1Y,3Y

12) 25
~3.7

~h S5t

14) —8.4
-4.7

| 87

gy 2L
3

0.%

13
18) ——
) =8.3

—0.1573

9.3
20) ==
~0.2

il )



Integer Addition, Subtraction, Multiplication and Division

Find each sum.

D)+ Y

3) 1+(-1) O
Find each difference.
5) (-6)-3 =4
7) (-3)-38 — |

Evaluate each expression.

9) 7-(-5) | A
1) (4-65) |
13 ()-¢y O
156+(-1)  §
179 B8 -610 —\

Find each product.

19) (-5)(10) —SD
2 (1) ~yg
23) (7)-1)  —F

25) (-6)-6) 3,

2) (6)+(-1) -

-1 T
14) 3 —(-3) g

16) (-8) + 4 -y
18) (8)-(6) L
0 30 2

2 G)s) -5

24) (-9)5) ~Yg

26) (-3)(-10) 3



27) 82—,

29) (-10)-3)  3Y
(82 L

33) (9)3)  —AF

35) ()-3)-5) 90

37) (926 [DF

39) (2)s)NE) T Ol b
41 @R L0

Find each quotient.

70
e ]
P —
-
an 2 b
2
49) 72+ -9 %
sy g2 —Y

ATy

28) @) —[(,

30) (7)(-8) ~ S

32) (~4)6) 24

w3

46) il ~Y
12

48) = |

50) -18+9 — S
50 20+—5

4 T2+8 =



Multiplying/Dividing Fractions and Mixed Numbers

Find each product.
"33 .3
//
\"L
327
9 4 7
_
0\
3
5 -2 -—
) 7 (p
7 —?.l-—lE
5 4

5‘3&—

g < el
7 2

4) -

W |~
EN RV

6) —2=-4—

g -1—-9



Find each quotient.

-1 7
35
13 23,710
2 7
&
-9
15) — =2
3 s
A
[©
17) —2+—3i
5
AN
—
\4
19) l—6ﬂ+5é
7 4

-1 5
12) —+—
2 4 Z
S
14)i+§
2 7
7
[
5
-3=+3
16) 39
- 5
271
LI
18)57 13
|
20) —3-7—+2l
10 4
| 23
vs



Add/Subtracting Fractions and Mixed Numbers

Evaluate each expression.

pE_2 )
4 4 /’Z,
3);+% ]
5
5)6—%
35
b
7l+1.
)5 5 1
-
5
4\ 7
0 (-5) - %
3o

L
9 4
13) % + (—%)
1
1S

2 1
AR
®
1 1
272§
7 5
VeTs 1
3
1 5
03
12)(—1—0)+l
7 6
-5/3_
2
13
14y 2 - —
: 8






Fractions, Decimals, and Percents

Write each as a decimal. Round to the thousandths place.

1) 90% 2) 30%
0.9 0.3
3) 115.9% 4y 9%

159 0.0

5) 7% 6) 65%

087 0.6S

7) 0.3% 8) 445%

0.00% 445

Write each as a percent. Round to the nearest tenth of a percent.

9) 0.452 10) 0.006
4§17 0.67.
11) 0.002 12) 0.05
O.KLS/O 57"
13) 4.78 14) 0.1
yis % (57,
15) 3.63 16) 0.03

24,5 29,




Write each as a fraction.

17 25% |
u‘
19) 93%
q%
/
[wo
21) 50%
1-
23) 20%
-
<3
25) 71%
T
[ES\

18) 70% L
[o

20) 58% q
o
SO

22) 66.6%
/
B

24) 80%

3

e |
5
26) 30%

b

—

|O

Write each as a percent. Use repeating decimals when necessary.

1
M) ~

" sv7s

% 12.57




Simplify Expressions: Combining Like Terms and the Distributive Property
Simplify each expression.

1) =106+ b 2) —x—3%

-4b ~Yx

3) 1 +5v+w 4 —Tn—7-8+10n
LV + | Zn-1S

5) Sk+ Tk 6) a-2+1+4a
|21 B~ |

7) 8(x+ 10) 8) 8(1+6p)

Ex + %0 H4fp+Q

9) —5(=7 + 7n) 10) —(9m +7)

- 250 +35 —gm-~T

11y (1 -5%) 12) —4(7r+7)

Sx—| ~28v-18



13) —2(n-9)+4

~72nt+ 27

15) 6x—3(2 - 3x)

|Sx—(

17) -3(a+1)+6

— 2ot 3

19) 3(1 +2v) - 3(1 +4v)

— v

21) 4(10x+6) — 10(9x +9)

fSBxﬂbL‘

23) 7(1+10p)+8(1 + 6p)

HYPHS'

14) —6 +9(8 — 2b)

—19b +4,0

16) —8(=2r—2) - 6r

)Dv-f"((p

18) —-2(-3 —3n)+1

[+ F

20) 4(x - 10) — 6(x—4)

— I x—16

22) 10(9 + 8n) — 6(7n +9)

Ynt 36

24) 10(3 + 8k) + 9(k + 3)

gqgr57‘



One-Step Equations

Solve each equation.

1) 26=8+v

|9

3) 15+ b=23

5 m+4=-12

"
7 m—-9=-13

-

9y v—-15=-27

—[

11) -104 = 8x

2) 3+p=8
5
4y —154+n=-9
6) x—7=13
2.0
8) p—6=-5
10) n+16=9
-7
12} 14b=-56

-

14) 10n=40



15) é:z

1
17) =15x=0

O
19) 21 =-7n

-5

21) =126 =14k

/q

23) =16+ x=-15
\

25) =17=x-15

-1

ol

29) 7+m=28

|5

i
) g
11

|+

18) —17x=-204

ot

n

20) —=-13

~52

22) —143=—11x

/'3

24) —5=—"2
18

—90

26) n—-8=-10

=L
28) a+11=20

N

30) 18+ m=28

—[D



Two-Step Equations

Solve each equation.

1 &= 4
4

1

3) 9x—T=-7

5) 4=— 5
20

70

1) 2=2+~
4

-\

2) —6+==-5
4

4 0=4+=
5
~70D
6) 71:5—!-);
6

~ [

8) 2(n+5)==2

~b

10) <5t =10
2

]

12) 144 =—12(x+5)

(%



13) =15=—4m+5

15) &n+7=31
17 n+35 -1
-16
19) —10=10(k
21) 94+ =9

23) g+ 5
—4

S

5

#9)

0

14y 10 —-6v=-104

N

16) 9x—-13=-103

[0

18) —10=—-10+7m

200 L —1=-2

22) 7(9+k) =84

24) —243 =-9(10 + x)

I




Multi-Step Equations i

Solve each equation. ’

1) 28a+1)=114 2) —8(3—7x) =88
- i
3) 6(k+6)=284 4) —128 =—-8(6 + 5x)

o 7

5) 8(2-6p) + 3(p+8) =-50 6) =24 =4(4x +4) — 4(8 + 3x)

L -7

11 2 3 8
7 —n+—n=—-—— 8) —=m+——-—
2 2 6 3 )
_ 5
— —
o 3

9) 5{1+4x)-5=80
) ( ke l) 10) _£v+£1,=1
2 8 8

A l

8 1 3
11) 0=2n+—n 5 Lpg g
5 6 3 8



Multistep Solving Eauations

Solve each equation.

1) -5(6 —5p)=95

S

3) =106 = —2(6m + 5)

¥

5) —(5r = 6) — 5(—6r+5) = —44

~ |

7) 31=3(1+2m) + 5(m —1)

5

9) 6(2x+8)—2=2(x~2)

-5

11) 5(1 +b)=8b-2(b-2)

2) —160 = 5(51n - 7)

-5

4y 8 +8(1 + 6x) =352

-

6) —4(-n—3)—2(4 —5n)=74

s

8) =78 =—=5(5 + 4x) — 3(7 — 4x)

L{

10) —5(6x +2) =—5(3x + 5)

l

12) 2(4 +2v) = -6(v - 8)

L{



One-Step Inequalities

Solve each inequality and graph its solution.

) =12>x-7

g
B e
2 -0 -8 - -4 o

X<-S

n<-<

5) a—17>-16
. P -

1

=

ettt
=5 =4 =3 2 =1 0

az |\

,;4_%1"71.4 d% e s e
ve-lL

7) 3+v<-9

o,
-5 -4 -3 =2 -1 0 1 2 3 4 3

X<~

2) -l+r=4

e e} e
2 -1 0 1 2 3 4 35 6 7 8

6) 15+x<0

‘.‘ = L‘-F:‘;:.;-m.'.-. -::;.’.-:-:—::—::; SR :# : L 3

e -20 -13 -16 -14 -12

X< =I5

8) 82n-6

% 7 5 9 10 11 12 13

n< 1

n>q

12) —9x=-90 _
S —— . T——
“»1 4 5 6 7 8 9 % 1112 13




13) 0=7n

"% =f =3 =3 =1 B

i

N <0
15) —13x<-156
- —
405 6 7 8 9 10 11 12 13 14
K21x
17) -8>v-3
i PR T ﬁ ; ‘
TP R A
V<=5
19) 252n+13
& ‘ﬁ"""‘i"—*—ia'a‘gé ) .y L

e - ; :
8§ 9 10 11 12 13 14

N< L

15 16 17 IR

71) 3<x—4
3 —‘5 —!3 o —2 —:1 01 ;z:: 3
X2 |
23) 121> 84
é J 4 < 6 %;'":Jé:_rg 1:0 o1z

m
By s
3
T 7:10 28

16) S I6p

g w5 43 =3 < 6 I 2 3

Q)Z’Z

18) 11<£5+x

: ; ; ; ' ,'::WBT:‘\:-"::-_. = £ ::;ii
1 2 3 4 5 6 7 8 9 10 11
X2
12 13 T 15 16 17 18 19 20 21 28
7
22) —>6
3
10 H 1" 13 14 H 16 1'.' ]S 19 '—'_‘0 d
v 2Lg
24) 22>-10+5
. %
A e
% -4 " -10 -8 -6

< -1



Two-Step Inequalities

Solve each inequality and graph its solution.

1) 2x+4>24

&

3 04 5 6 7 & 9 10 11 12 13

X 2 16

3) 3(p+1)<-18

in‘;f_—:_'x",l‘ AT '—i!gp

—t
6 1 2 3 4 53 6 7 8 9 10

PZS

e
-6 -4 -2

7 4+;—7<6

"2 Sl 0 1 2 3 o4 s 7 8

N<G

9) —Tx+7<-56

203 4 5 6 7 8 9 10 11 12

11) ~11x—-4>-15

T3 2 -1 0 1 2 3 4 5 6 7

=i,

4) —4(-4 + x)> 56

&

= PR | R ] -8 =5

X< ~10

6) —4(3 +n)>-32
" S .

Y

N<s

8) -3(r—4)20

ST6 7 8 9 10 11

e TR S T ,"';u.-—ﬁ‘ >
# T T T T -

Wy 3 2 -1 0 L 2 3 4 3

e Y

10) -3(p-7) =21

—— ._,.-‘-.—..L-.A.-@ . o
< e e e —

% 5 4 3 2 10 1 2 3

-O+a
15

L‘th g T
) Jecnfiion et I 1 1

>1

-

e
a2, 123 Fa 25 36 27 28 29 30 31

o> 2Y

32



e |

8%-8 7 -6 -5 4 -3 -1 -1 0 |

N -\

7
17) 4<1+—
7 -

I8 19 20 3 2 23 24 35 26 27 2§

Nn>2l

19) Tn—1>-169
P

e ey e g T

26 4 22 20 18 16

¥

Y e 9

21) 84>-7(v-9)

T P e NS

sy
—

L A o  IFERIRS s —
22 23 24 25 26 27 28 29 30 31 32

7. 24

14) ~132> 12(n +9)

=20 —-18 —16 —14

N<L-20

16) 90> 5(/’c— )

13 lt-l 15 36 l? lS 19 ”0 3 12 23

Kz al

&EW»: & ':S 4 ™
-0 -18 16 -4 —12 -10
XL -1,
70) 45 -5>-25
2 *-----.: S **:‘F e}
<_‘(‘l a 2 4 5 6 7 8 9
—8+r
22) LA
2
T -8 -6 4

s 6 7- 8 9 10 11 12 13 14 15

m £ (2



Adding and Subtracting Polynomials
Simplify each expression.
1) (5p* -3)+(2p* - 3p°)

,3[)3{— 7,02'-5

3) (4+2n%) +(5n% +2)
Tin >+ 0
5) (3a*+1)— (4 + 247
r5-3
7) (Sa+4)—(5a+3)
(
9) (—4k* + 14 + 3k%) + (=3k* — 14%* - 8)

— e T N2 -0,
11) (124° - 6a —10a®) - (10a — 24° — 14a*)

| da %+ 142~ 10a3- |l

13) (x*+132° +6x%) + (6x° + 5x° +7x%)

(xS +lbx+ 12x73

15) (13n® + 11n— 2n*) + (~13n% - 3n - 6:14)

- %I/Lbt f"gw

2) (a® - 24%) - (3a* — 44°)
Sa ?-5a.?
4) (4n—3n%) - (3n® +4n)
et
6) (4 +3r*) - (+* = 5%)
Z V ¥ q V- 5
8) (3x* - 3x) - (3x—3x*)
box " ilo %
10) (3-6n° —8n*) — (~6n* - 3n— 8n°)
Z2n®_ 21"+ 30+ 3

12) (8n—3n*+10n%) - (3n* + 11n* - 7)

*/L/I/JL'+ n 2+ mel
14) (97 + 52 + 115) + (<2 + 97 — 8#2)
3
7'/ "SV'Z-I— 20

16) (7% + 14 ~ 25) + (105 + T2 +5%°)

—2<®+(0xT+Sx +1Y




17 (7=132% = 11a) = (2* & 8~2s’)
x5 -15x3 lix-1|

19) (3v° +8v° = 10v%) — (-12v° + 40° + 14v?)

[SV3 4 4y3 - 24u™

21) (k* -3 - 3%%) + (-5k* + 6k° — 8K°)
~GLs -Ylt+313-3

23) (-7n® +8n—4) - (~11n+2 — 14n?)
Tn* 190 -

25) (8k+k* —6) — (—10k+7 — 2&%)

A+ 1§l 3

19 3a? 6" —Za)—1-10s? = Tla® i Ua)

5a ¢ 7220 % —1lec
20) (86% -6+ 3b%) - (* - 7b* - 3)
2b" +1sb3-3
22) (~10k% + 7k + 6k*) + (~14 — 4k* — 14k)
2K [0k ” = Tk-1Yy

24) (14p* +11p2 -9p°) - (14 +5p° —11p?)

- Hpgrﬂ(foh' JrZ.szi-V-{

26) (—9v? — 8u) + (=2uv — 2u? + V) + (—* + 4uv)
'(Q\/lf’ LZuv - 2u*- Xm

27) (4x* + 7x%y?) = (—6x2 — 723y* — 4x) — (10x + 9x?)
Mx3u® < =l x

28) (=5u’v* + 9u) + (=5uv* — 8u + 8u*v?) + (—8u*v? + 8u’v)
*2(/(3\/%- gucl\/if Sulv Iy

29) (-9x® — 9x*y3) + (3xy® + 7p* — 8xy*) + (32" + 2y°)
LM - (;x‘fk\j *r 731{_ L/Kjg

30) (y* = 7x%y*) + (-10x%° + 637 + 4x*y*) — (x*y? + 637

3

/qx"/j‘“l_‘”)(‘-ftj3+_7j



